HIGHER-ORDER DEGENERATE q-BERNOULLI POLYNOMIALS

TAEKYUN KIM AND GWAN-WOO JANG

ABSTRACT. In this paper, we study the higher-order degenerate q-Bernoulli polynomials which are derived from the p-adic q-integrals on \mathbb{Z}_p . In addition, we give some identities and properties for these polynomials.

1. Introduction

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will denote the ring of p-adic integers, the field of p-adic rational numbers and the completion of the algebraic closure of \mathbb{Q}_p . The p-adic norm is normalized as $|p|_p = \frac{1}{p}$. As is well known, Carlitz's degenerate Bernoulli polynomials are defined by the generating function

$$(1.1) \qquad \frac{t}{(1+\lambda t)^{\frac{1}{\lambda}}-1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_n (x \mid \lambda) \frac{t^n}{n!}, \quad (\text{see } [4, 5]).$$

When x = 0, $\beta_n(\lambda) = \beta_n(0 \mid \lambda)$ are called the degenerate Benroulli numbers. Note that $\lim_{\lambda \to 0} \beta_n(x \mid \lambda) = B_n(x)$, $(n \ge 0)$, where $B_n(x)$ are called ordinary Bernoulli polynomials.

For $r \in \mathbb{N}$, the higher-order degenerate Bernoulli numbers are also given by the generating function

$$\left(\frac{t}{\left(1+\lambda t\right)^{\frac{1}{\lambda}}-1}\right)^{r}\left(1+\lambda t\right)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty}\beta_{n}^{(r)}\left(x\mid\lambda\right)\frac{t^{n}}{n!}.$$

When x = 0, $\beta_n^{(r)}(0 \mid \lambda) = \beta_n^{(r)}(\lambda)$ are called the degenerate Bernoulli numbers of order r(see [5]). Note that $\lim_{\lambda \to 0} \beta_n^{(r)}(x \mid \lambda) = B_n^{(r)}(x)$, $(n \ge 0)$, where $B_n^{(r)}(x)$ are the higher-order Bernoulli polynomials given by the generating function

$$\left(\frac{t}{e^t - 1}\right)^r e^{xt} = \sum_{n=0}^{\infty} B_n^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see } [1\text{-}13]).$$

Let $q\in\mathbb{C}_p$ be an indeterminate with $|1-q|_p< p^{-\frac{1}{p-1}}.$ Then Carlitz's q-Benroulli numbers are defined as

(1.4)
$$q (q\beta_q + 1)^n - \beta_{n,q} = \begin{cases} 1 & \text{if } n = 1 \\ 0 & \text{if } n > 1, \end{cases} \beta_{0,q} = 0,,$$

with the usual convention about replacing β_q^n by $\beta_{n,q}$ (see [9, 10]).

²⁰¹⁰ Mathematics Subject Classification. 05A19, 05A30, 11B83.

 $Key\ words\ and\ phrases.$ higher-order denenerate $q ext{-}Bernoulli\ polynomials},\ p ext{-}adic\ q ext{-}integral\ on}$ $Z_p,$ Carlitz's $q ext{-}Bernoulli\ polynomials}.$

The q-Bernoulli polynomials are also defined by Carlitz as follows:

(1.5)
$$\beta_{n,q}(x) = \sum_{l=0}^{n} {n \choose l} q^{lx} \beta_{l,q}[x]_q^{n-l}, \quad (\text{see } [4, 6, 9]),$$

where $[x]_q = \frac{1-q^x}{1-q}$. Let f be a uniformly differentiable function on \mathbb{Z}_p . Then the p-adic q-integral on \mathbb{Z}_p is defined by Kim and given by

(1.6)
$$\int_{\mathbb{Z}_p} f(x) d\mu_q(x) = \lim_{N \to \infty} \sum_{x=0}^{p^N - 1} f(x) \mu_q(x + p^N \mathbb{Z}_p)$$
$$= \lim_{N \to \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N - 1} f(x) q^x, \quad (\text{see [9]}).$$

From (1.6), we note that

$$(1.7) q \int_{\mathbb{Z}_p} f(x+1) d\mu_q(x) = \int_{\mathbb{Z}_p} f(x) d\mu_q(x) + (q-1) f(0) + \frac{q-1}{\log q} f'(0).$$

(1.8)
$$q \int_{\mathbb{Z}_p} [x+1]_q^n d\mu_q(x) - \int_{\mathbb{Z}_p} [x]_q^n d\mu_q(x) = (q-1) 0^n + n0^{n-1}$$
$$= \begin{cases} q-1 & \text{if } n=0, \\ 1 & \text{if } n=1, \\ 0 & \text{if } n>1. \end{cases}$$

It is easy to show that

(1.9)
$$[x+1]_q^n = (1+q[x]_q)^n$$

$$= \sum_{l=0}^n \binom{n}{l} q^l [x]_q^l$$

From (1.8) and (1.9), we have

$$(1.10) q \sum_{l=0}^{n} {n \choose l} q^{l} \int_{\mathbb{Z}_{p}} \left[x\right]_{q}^{l} d\mu_{q}\left(x\right) - \int_{\mathbb{Z}_{p}} \left[x\right]_{q}^{n} d\mu_{q}\left(x\right) = \begin{cases} q-1 & \text{if } n=0, \\ 1 & \text{if } n=1, \\ 0 & \text{if } n>1. \end{cases}$$

In [9], Kim proved that Carlitz's q-Bernoulli numbers can be represented by the p-adic q-integral on \mathbb{Z}_p as follows:

(1.11)
$$\int_{\mathbb{Z}_n} \left[x \right]_q^n d\mu_q \left(x \right) = \beta_{n,q}, \quad (n \ge 0).$$

By (1.10) and (1.11), we get

(1.12)
$$q \sum_{l=0}^{n} \binom{n}{l} q^{l} \beta_{l,q} - \beta_{n,q} = \begin{cases} q-1 & \text{if } n=0, \\ 1 & \text{if } n=1, \\ 0 & \text{if } n>1. \end{cases}$$

The Carlitz's q-Bernoulli polynomials are also written by the p-adic q-integral on \mathbb{Z}_p as follows:

(1.13)
$$\int_{\mathbb{Z}_p} [x+y]_q^n d\mu_q(y) = \sum_{l=0}^n \binom{n}{l} q^{lx} \int_{\mathbb{Z}_p} [y]_q^l d\mu_q(y) [x]_q^{n-l}$$
$$= \sum_{l=0}^n \binom{n}{l} q^{lx} \beta_{l,q} [x]_q^{n-l}, \quad (n \ge 0).$$

The generating function of Carlitz's q-Bernoulli polynomials is given by

(1.14)
$$\int_{\mathbb{Z}_p} e^{[x+y]_q t} d\mu_q(y) = \sum_{n=0}^{\infty} \beta_{n,q}(x) \frac{t^n}{n!}.$$

Note that $e^t = \lim_{\lambda \to 0} (1 + \lambda t)^{\frac{1}{\lambda}}$.

Recently, the degenerate q-Bernoulli polynomials are introduced by Kim and given by

(1.15)
$$\int_{\mathbb{Z}_p} (1 + \lambda t)^{\frac{1}{\lambda}[x+y]_q} d\mu_q(y) = \sum_{n=0}^{\infty} \beta_{n,q}(x \mid \lambda) \frac{t^n}{n!}, \quad (\text{see } [10]).$$

When x = 0, $\beta_{n,q}(0 \mid \lambda)$ are called the degenerate q-Bernoulli numbers. It is not difficult to show that $\lim_{\lambda \to 0} \beta_{n,q}(x \mid \lambda) = \beta_{n,q}(x)$.

In this paper, we study the degenerate higher-order q-Bernoulli polynomials and numbers which are derived from the p-adic q-integrals on \mathbb{Z}_p and investigate some properties of these polynomials and numbers.

Recently, the q-Bernoulli and degenerate Bernoulli polynomials have been studied by many researchers. (see [1-13]).

2. Higher-order degenerate q-Bernoulli polynomials

Let h, k be positive integers and let us define the degenerate higher-order q-Bernoulli polynomials as follows:

$$(2.1) \sum_{n=0}^{\infty} \beta_{n,q}^{(h,k)} (x \mid \lambda) \frac{t^n}{n!}$$

$$= \underbrace{\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{[x_1+\cdots+x_k+x]_q}{\lambda}} q^{x_1(h-1)+\cdots+x_k(h-k)} d\mu_q(x_1) \cdots d\mu_q(x_k)}_{k-\text{times}}.$$

Now, we note that

$$(2.2) \int_{\mathbb{Z}_{p}} \cdots \int_{\mathbb{Z}_{p}} (1+\lambda t)^{\frac{[x_{1}+\cdots+x_{k}+x]_{q}}{\lambda}} q^{x_{1}(h-1)+x_{2}(h-2)+\cdots+x_{k}(h-k)} d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k})$$

$$= \sum_{n=0}^{\infty} \int_{\mathbb{Z}_{p}^{k}} \left(\frac{\frac{[x_{1}+\cdots+x_{k}+x]_{q}}{\lambda}}{n}\right) q^{x_{1}(h-1)+x_{2}(h-2)+\cdots+x_{k}(h-k)} d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k}) \lambda^{n} t^{n}$$

$$= \sum_{n=0}^{\infty} \lambda^{n} \int_{\mathbb{Z}_{p}^{k}} \left(\frac{[x_{1}+\cdots+x_{k}+x]}{\lambda}\right)_{n} q^{x_{1}(h-1)+\cdots+x_{k}(h-k)} d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k}) \frac{t^{n}}{n!},$$

where

$$\int_{\mathbb{Z}_{p}^{k}} f(x_{1}, \dots, x_{k}) d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k})$$

$$= \underbrace{\int_{\mathbb{Z}_{p}} \cdots \int_{\mathbb{Z}_{p}} f(x_{1}, \dots, x_{k}) d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k})}_{k \text{ times}},$$

and

$$(2.3) \qquad \left(\frac{[x]_q}{\lambda}\right)_n = \frac{[x]_q}{\lambda} \left(\frac{[x]_q}{\lambda} - 1\right) \cdots \left(\frac{[x]_q}{\lambda} - n + 1\right)$$

$$= \lambda^{-n} \left[x\right]_q \left([x]_q - \lambda\right) \left([x]_q - 2\lambda\right) \cdots \left([x]_q - (n-1)\lambda\right)$$

$$= \lambda^{-n} \left([x]_q \mid \lambda\right)_n.$$

Therefore, (2.1), (2.2) and (2.3), we obtain the following theorem.

Theorem 1. For $n \geq 0$, we have

$$\underbrace{\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p}}_{k-times} \left(\left[x_1 + \cdots + x_k + x \right]_q \middle| \lambda \right)_n \\ \times q^{x_1(h-1) + \cdots + x_k(h-k)} d\mu_q \left(x_1 \right) \cdots d\mu_q \left(x_k \right) = \beta_{n,q}^{(h,k)} \left(x \middle| \lambda \right).$$

We observe that

(2.4)
$$\left(\left[x_1 + \dots + x_k + x \right]_q \middle| \lambda \right)_n = \lambda^n \left(\frac{\left[x_1 + \dots + x_k + x \right]_q}{\lambda} \right)_n$$

$$= \lambda^n \sum_{l=0}^n S_1(n,l) \left(\frac{\left[x_1 + \dots + x_k + x \right]_q}{\lambda} \right)^l$$

$$= \sum_{l=0}^n S_1(n,l) \lambda^{n-l} \left[x_1 + \dots + x_k + x \right]_q^l,$$

where $S_1(n, l)$ is the Stirling number of the first kind.

From Theorem 1 and (2.4), we note that

(2.5)

$$\beta_{n,q}^{(h,k)}(x \mid \lambda) = \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l}$$

$$\times \underbrace{\int_{\mathbb{Z}_{p}} \cdots \int_{\mathbb{Z}_{p}} \left[x_{1} + \cdots + x_{k} + x \right]_{q}^{l} q^{x_{1}(h-1) + \cdots + x_{k}(h-k)} d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k}) \right] }_{k-\text{times}}$$

$$= \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l} \frac{1}{(1-q)^{l}} \sum_{m=0}^{l} \binom{l}{m} q^{mx} (-1)^{m}$$

$$\times \frac{(m+h)(m+h-1) \cdots (m+h-k+1)}{[m+h]_{q}[m+h-1]_{q} \cdots [m+h-k+1]_{q}}$$

$$\begin{split} &= \sum_{l=0}^{n} \sum_{m=0}^{l} \frac{1}{(1-q)^{l}} S_{1}\left(n,l\right) \lambda^{n-l} \binom{l}{m} q^{mx} \left(-1\right)^{m} \\ &\times \frac{(m+h)\left(m+h-1\right) \cdots \left(m+h-k+1\right)}{[m+h]_{q} \left[m+h-1\right]_{q} \cdots \left[m+h-k+1\right]_{q}} \\ &= \sum_{l=0}^{n} \sum_{m=0}^{l} \binom{l}{m} \left(-1\right)^{m} \left(1-q\right)^{k-l} \lambda^{n-l} S_{1}\left(n,l\right) \frac{(m+h)_{k}}{(q^{m+h}:q^{-1})_{k}} q^{mx}, \end{split}$$

where $(x:q)_n=(1-x)\,(1-xq)\cdots \left(1-xq^{n-1}\right)(n\geq 1),\,(x:q)_0=1.$ Therefore, by (2.5), we obtain the following theorem.

Theorem 2. For n > 0, we have

$$\beta_{n,q}^{(h,k)}(x \mid \lambda) = \sum_{l=0}^{n} \sum_{m=0}^{l} {l \choose m} (-1)^m (1-q)^{k-l} \lambda^{n-l} S_1(n,l) \frac{(m+h)_k}{(q^{m+h}:q^{-1})_k} q^{mx}.$$

Note that

$$\lim_{\lambda \to 0} \beta_{n,q}^{(h,k)}(x \mid \lambda) = \sum_{m=0}^{n} {n \choose m} (-1)^m (1-q)^{k-n} \frac{(m+h)_k}{(q^{m+h}: q^{-1})_k} q^{mx}$$
$$= \beta_{n,q}^{(h,k)}(x), \quad (\text{see } [9, 10]).$$

In [4], L. Carlitz introduced the higher-order q-Bernoulli polynomials which are given by

$$\beta_{m,q}^{(h,k)}\left(x\right) = \frac{1}{\left(1-q\right)^m} \sum_{i=0}^m \binom{m}{j} \left(-1\right)^j q^{jx} \frac{(j+h)_k}{[j+h]_k},$$

where $[j+h]_k = [j+h]_q [j+h-1]_q \cdots [j+h-k+1]_q$. By (2.5), we easily get

$$(2.6) q^{x} \beta_{n,q}^{(h,k)} (x \mid \lambda)$$

$$= \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l} \int_{\mathbb{Z}_{p}} \cdots \int_{\mathbb{Z}_{p}} [x_{1} + \cdots + x_{k} + x]_{q}^{l}$$

$$\times q^{x_{1}(h-1)+\cdots+x_{k}(h-k)+x} d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k})$$

$$= \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l} \left\{ (q-1) \int_{\mathbb{Z}_{p}} \cdots \int_{\mathbb{Z}_{p}} [x_{1} + \cdots + x_{k} + x]_{q}^{l+1} \right.$$

$$\times q^{x_{1}(h-2)+\cdots+x_{k}(h-k-1)} d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k})$$

$$+ \int_{\mathbb{Z}_{p}} \cdots \int_{\mathbb{Z}_{p}} [x_{1} + \cdots + x_{k} + x]_{q}^{l} q^{x_{1}(h-2)+\cdots+x_{k}(h-1-k)}$$

$$\times d\mu_{q}(x_{1}) \cdots d\mu_{q}(x_{k})$$

$$= \beta_{n,q}^{(h-1,k)} (x \mid \lambda) + \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l} (q-1) \beta_{l+1,q}^{(h-1,k)} (x).$$

From (2.6), we have

$$(2.7) q^{x} \beta_{n,q}^{(h,k)}(x \mid \lambda) - \beta_{n,q}^{(h-1,k)}(x \mid \lambda) = (q-1) \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l} \beta_{l+1,q}^{(h-1,k)}(x).$$

Therefore, by (2.7), we obtain the following theorem.

Theorem 3. For $n \geq 0$, we have

$$q^{x} \beta_{n,q}^{(h,k)}(x \mid \lambda) - \beta_{n,q}^{(h-1,k)}(x \mid \lambda) = (q-1) \sum_{l=0}^{n} S_{1}(n,l) \lambda^{n-l} \beta_{l+1,q}^{(h-1,k)}(x),$$

where $\beta_{n,q}^{(h,k)}(x)$ are Carlitz's higher-order q-Bernoulli polynomials.

We consider the polynomials $\beta_{n,q}^{(0,k)}\left(x\mid\lambda\right)$ in q^{x} (2.8)

$$\begin{split} &\beta_{n,q}^{(0,k)}\left(x\mid\lambda\right) \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(\left[x+x_1+\cdots+x_k\right]_q\mid\lambda\right)_n q^{-x_1-2x_2-\cdots-kx_k} d\mu_q\left(x_1\right)\cdots d\mu_q\left(x_k\right) \\ &= \sum_{l=0}^n \lambda^{n-l} S_1\left(n,l\right) \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left[x+x_1+\cdots+x_k\right]_q^l q^{-x_1-2x_2-\cdots-kx_k} d\mu_q\left(x_1\right)\cdots d\mu_q\left(x_k\right) \\ &= \sum_{l=0}^n \lambda^{n-l} S_1\left(n,l\right) (1-q)^{-l} \sum_{m=0}^l \binom{l}{m} \left(-1\right)^m q^{mx} \frac{m\left(m-1\right)\cdots\left(m-k+1\right)}{\left[m\right]_q \left[m-1\right]_q \cdots \left[m-k+1\right]_q} \\ &= \sum_{l=0}^n \sum_{m=0}^l \binom{l}{m} \left(-1\right)^m q^{mx} \lambda^{n-l} \left(1-q\right)^{k-l} S_1\left(n,l\right) \frac{\left(m\right)_k}{\left(q^m:q^{-1}\right)_k}. \end{split}$$

Note that

$$\lim_{\lambda \to 0} \beta_{n,q}^{(0,k)} (x \mid \lambda)$$

$$= \sum_{m=0}^{n} \binom{n}{m} (-1)^{m} q^{mx} (1-q)^{k-n} \frac{(m)_{k}}{(q^{m}:q^{-1})_{k}}$$

$$= \sum_{m=0}^{n} \binom{n}{m} (-1)^{m} q^{mx} (1-q)^{-n} \frac{(m)_{k}}{[m]_{k}}$$

$$= \beta_{m,q}^{(0,k)} (x).$$

By (2.8), we get

(2.9)

$$\beta_{n,q}^{(0,k)}(x+1 \mid \lambda) - \beta_{n,q}^{(0,k)}(x \mid \lambda)$$

$$= \sum_{l=0}^{n} \sum_{m=0}^{l} {l \choose m} (-1)^{m} \lambda^{n-l} (1-q)^{-l} S_{1}(n,l) \left(q^{m(x+1)} - q^{mx} \right)$$

$$\times \frac{m(m-1) \cdots (m-k+1)}{[m]_{q} [m-1]_{q} \cdots [m-k+1]_{q}}$$

$$= \sum_{l=1}^{n} \sum_{m=1}^{l} {l \choose m} (-1)^{m-1} \lambda^{n-l} (1-q)^{-l+1} S_{1}(n,l) q^{mx} [m]_{q}$$

$$\times \frac{m(m-1) \cdots (m-k+1)}{[m]_{q} [m-1]_{q} \cdots [m-k+1]_{q}}$$

$$\begin{split} &= \sum_{l=0}^{n-1} \sum_{m=0}^{l} \left(-1\right)^{m} \lambda^{n-1-l} \left(1-q\right)^{-l} S_{1}\left(n,l+1\right) q^{(m+1)x} \binom{l}{m} \left(l+1\right) \frac{(m)_{k-1}}{[m]_{k-1}} \\ &= \sum_{l=0}^{n-1} \left(l+1\right) q^{x} \left(\sum_{m=0}^{l} \left(-1\right)^{m} \lambda^{n-1-l} \left(1-q\right)^{-l} S_{1}\left(n,l+1\right) q^{mx} \binom{l}{m} \frac{(m)_{k-1}}{[m]_{k-1}} \right). \end{split}$$

Therefore, by (2.9), we obtain the following theorem.

Theorem 4. For $n \geq 0$, we have

$$\beta_{n,q}^{(0,k)}(x+1 \mid \lambda) - \beta_{n,q}^{(0,k)}(x \mid \lambda)$$

$$= \sum_{l=0}^{n-1} (l+1) q^{x} \left(\sum_{m=0}^{l} (-1)^{m} \lambda^{n-1-l} (1-q)^{-l} S_{1}(n,l+1) q^{mx} \binom{l}{m} \frac{(m)_{k-1}}{[m]_{k-1}} \right).$$

Note that

$$\lim_{\lambda \to 0} \left(\beta_{n,q}^{(0,k)} \left(x + 1 \mid \lambda \right) - \beta_{n,q}^{(0,k)} \left(x \mid \lambda \right) \right)$$

$$= nq^{x} \frac{1}{\left(1 - q \right)^{n-1}} \sum_{m=0}^{n-1} \left(-1 \right)^{m} q^{mx} \binom{n-1}{m} \frac{(m)_{k-1}}{[m]_{k-1}}$$

$$= nq^{x} \beta_{n-1,q}^{(0,k-1)} \left(x \right).$$

For $n \geq 0$, we have

(2.10)
$$\sum_{m=0}^{\infty} \beta_{m,q}^{(0,k)}(x \mid \lambda) \frac{t^m}{m!}$$

$$= \int_{\mathbb{Z}_p^k} (1 + \lambda t)^{\frac{[x_1 + \dots + x_k + x]_q}{\lambda}} q^{-x_1 - 2x_2 - \dots - kx_k} d\mu_q(x_1) \cdots d\mu_q(x_k)$$

$$= \sum_{m=0}^{\infty} \left(\sum_{n=0}^{m} \lambda^{m-n} S_1(m,n) \sum_{l=0}^{n} \binom{n}{l} [x]_q^{n-l} q^{lx} \beta_{l,q}^{(0,k)} \right) \frac{t^m}{m!}.$$

Thus, by (2.10), we get

(2.11)
$$\beta_{m,q}^{(0,k)}(x \mid \lambda) = \sum_{r=0}^{m} \sum_{l=0}^{n} \binom{n}{l} \lambda^{m-r} S_1(m,n) [x]_q^{n-l} q^{lx} \beta_{l,q}^{(0,k)}.$$

Note that

$$\lim_{\lambda \to 0} \beta_{m,q}^{(0,k)} \left(x \mid \lambda \right)$$

$$= \sum_{l=0}^{m} {m \choose l} \left[x \right]_{q}^{m-l} q^{lx} \beta_{l,q}^{(0,k)}$$

$$= \beta_{m,q}^{(0,k)} \left(x \right).$$

Let us consider the polynomials $\beta_{n,q}^{(h,1)}\left(x\mid\lambda\right)$ which are given by

(2.12)
$$\beta_{n,q}^{(h,1)}(x \mid \lambda) = \int_{\mathbb{Z}_p} \left(\left[x + x_1 \right]_q \mid \lambda \right)_n q^{x_1(h-1)} d\mu_q(x_1), \quad (n \ge 0).$$

From (2.12), we note that

$$(2.13) \quad \beta_{n,q}^{(h,1)}\left(x\mid\lambda\right) = \lim_{N\to\infty} \frac{1}{\left[p^{N}\right]_{q}} \sum_{x_{1}=0}^{p^{N}-1} \left(\left[x+x_{1}\right]_{q}\mid\lambda\right)_{n} q^{x_{1}h}$$

$$= \lim_{N\to\infty} \frac{1}{\left[p^{N}\right]_{q}} \sum_{x_{1}=0}^{p^{N}-1} \lambda^{n} \left(\frac{\left[x_{1}+x\right]_{q}}{\lambda}\right)_{n} q^{x_{1}h}$$

$$= \sum_{l=0}^{n} \lambda^{n-l} S_{1}\left(n,l\right) \lim_{N\to\infty} \frac{1}{\left[p^{N}\right]_{q}} \sum_{x_{1}=0}^{p^{N}-1} \left[x+x_{1}\right]_{q}^{l} q^{x_{1}h}$$

$$= \sum_{l=0}^{n} \lambda^{n-l} S_{1}\left(n,l\right) \left(1-q\right)^{-l} \sum_{m=0}^{l} \binom{l}{m} \left(-1\right)^{m} q^{mx} \frac{m+h}{\left[m+h\right]_{q}}$$

$$= \sum_{l=0}^{n} \sum_{m=0}^{l} \lambda^{n-l} S_{1}\left(n,l\right) \left(1-q\right)^{-l} \binom{l}{m} \left(-1\right)^{m} q^{mx} \frac{m+h}{\left[m+h\right]_{q}}$$

Therefore, by (2.13), we obtain the following theorem.

Theorem 5. For $n \geq 0$, we have

$$\beta_{n,q}^{(h,1)}(x \mid \lambda) = \sum_{l=0}^{n} \sum_{m=0}^{l} {l \choose m} (-1)^{m} \lambda^{n-l} S_{1}(n,l) (1-q)^{-l} q^{mx} \frac{m+h}{[m+h]_{q}}.$$

Note that

$$\lim_{\lambda \to 0} \beta_{m,q}^{(h,1)}(x \mid \lambda) = \frac{1}{(1-q)^n} \sum_{m=0}^n \binom{n}{m} (-1)^m q^{mx} \frac{m+h}{[m+h]_q}$$
$$= \beta_{m,q}^{(h,1)}(x).$$

From (1.7), we have

(2.14)

$$\begin{split} q^{h}\beta_{n,q}^{(h,1)}\left(x+1\mid\lambda\right) - \beta_{n,q}^{(h,1)}\left(x\mid\lambda\right) \\ &= q^{h}\int_{\mathbb{Z}_{p}}\left(\left[x+1+x_{1}\right]_{q}\mid\lambda\right)_{n}q^{x_{1}(h-1)}d\mu_{q}\left(x_{1}\right) - \int_{\mathbb{Z}_{p}}\left(\left[x+x_{1}\right]_{q}\mid\lambda\right)_{n}q^{x_{1}(h-1)}d\mu_{q}\left(x_{1}\right) \\ &= \lim_{N\to\infty}\frac{1}{\left[p^{N}\right]_{q}}\left(\sum_{l=0}^{n}\lambda^{n-l}S_{1}\left(n,l\right)\left[p^{N}+x\right]_{q}^{l}q^{hp^{N}} - \sum_{l=0}^{n}\lambda^{n-l}S_{1}\left(n,l\right)\left[x\right]_{q}^{l}\right) \\ &= \left(q-1\right)h\sum_{l=0}^{n}\lambda^{n-l}S_{1}\left(n,l\right)\left[x\right]_{q}^{l} + \lim_{N\to\infty}\frac{1}{\left[p^{N}\right]_{q}}\sum_{l=0}^{n}\lambda^{n-l}S_{1}\left(n,l\right)\left(\left[p^{N}+x\right]_{q}^{l} - \left[x\right]_{q}^{l}\right) \\ &= \left(q-1\right)h\sum_{l=0}^{n}\lambda^{n-l}S_{1}\left(n,l\right)\left[x\right]_{q}^{l} + \sum_{l=0}^{n}\lambda^{n-l}S_{1}\left(n,l\right)l\left[x\right]_{q}^{l-1}q^{x}. \end{split}$$

Therefore, by (2.14), we obtain the following theorem.

Theorem 6. For $n \geq 0$, we have

$$q^{h}\beta_{n,q}^{(h,1)}\left(x+1\mid\lambda\right)-\beta_{n,q}^{(h,1)}\left(x\mid\lambda\right)$$

$$= (q-1) h \sum_{l=0}^{n} \lambda^{n-l} S_1(n,l) [x]_q^l + \sum_{l=0}^{n} \lambda^{n-l} S_1(n,l) l [x]_q^{l-1} q^x.$$

Note that

$$\lim_{\lambda \to 0} q^h \beta_{n,q}^{(h,1)}(x+1 \mid \lambda) - \beta_{n,q}^{(h,1)}(x \mid \lambda) = nq^x \left[x \right]_q^{n-1} + h(q-1) \left[x \right]_q^n.$$

Remark. The generating function of $\beta_{n,q}^{(h,1)}(x \mid \lambda)$ is given by

(2.15)
$$\int_{\mathbb{Z}_p} (1+\lambda t)^{\frac{[x+x_1]}{\lambda}} q^{x_1(h-1)} d\mu_q(x_1) = \sum_{n=0}^{\infty} \beta_{n,q}^{(h,1)}(x \mid \lambda) \frac{t^n}{n!}.$$

From (2.15), we note that

(2.16)
$$\beta_{n,q}^{(h,1)}(x \mid \lambda) = \int_{\mathbb{Z}_n} \left([x + x_1]_q \mid \lambda \right)_n q^{x_1(h-1)} d\mu_q(x_1),$$

where $n \ge 0$.

Competing interests The authors declare that they have no competing interests.

Authors contributions All authors contributed equally to the manuscript and typed, read, and approved the final manuscript.

Acknowledgements This paper is supported by Jangjeon Mathematical Society in 2016.

References

- S. Aracı and M. Açıkgöz, A note on the weighted q-Hardy-Littlewood-type maximal operator with respect to q-Volkenborn integral in the p-adic integer ring, J. Appl. Math. Inform. 31 (2013), no. 3-4, 365-372. MR 3098895
- K. N. Boyadzhiev, A note on Bernoulli polynomials and solitons, J. Nonlinear Math. Phys. 14 (2007), no. 2, 174–178. MR 2295639
- 3. I. N. Cangul, V. Kurt, H. Ozden, and Y. Simsek, On the higher-order w-q-Genocchi numbers, Adv. Stud. Contemp. Math. (Kyungshang) 19 (2009), no. 1, 39–57. MR 2542124
- 4. L. Carlitz, Expansions of q-Bernoulli numbers, Duke Math. J. ${\bf 25}$ (1958), 355–364. MR 0095982
- 5. _____, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51–88. MR 531621
- J. Choi, T. Kim, and Y. H. Kim, A note on the extended q-Bernoulli numbers and polynomials, Adv. Stud. Contemp. Math. (Kyungshang) 21 (2011), no. 4, 351–354. MR 2884998
- D. V. Dolgy, T. Kim, S. H. Rim, and S. H. Lee, Symmetry identities for the generalized higher-order q-Bernoulli polynomials under S₃ arising from p-adic Volkenborn ingegral on Z_p, Proc. Jangjeon Math. Soc. 17 (2014), no. 4, 645– 650. MR 3243807
- 8. Y. He, Symmetric identities for Carlitz's q-Bernoulli numbers and polynomials, Adv. Difference Equ. (2013), 2013:246, 10. MR 3116122
- T. Kim, q-Volkenborn integration, Russ. J. Math. Phys. 9 (2002), no. 3, 288–299. MR 1965383
- 10. _____, On degenerate q-Bernoulli polynomials, Bull. Korean Math. Soc. (2016).

- 11. G. D. Liu, Degenerate Bernoulli numbers and polynomials of higher order, J. Math. (Wuhan) 25 (2005), no. 3, 283–288, (Chinese). MR 2152519
- 12. C. S. Ryoo and T. Kim, A new identities on the q-Bernoulli numbers and polynomials, Adv. Stud. Contemp. Math. (Kyungshang) **21** (2011), no. 2, 161–169. MR 2815706
- 13. Y. Simsek, Twisted (h,q)-Bernoulli numbers and polynomials related to twisted (h,q)-zeta function and L-function, J. Math. Anal. Appl. **324** (2006), no. 2, 790–804. MR 2265081

Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

 $E ext{-}mail\ address: kimtk2015@gmail.com, tkkim@kw.ac.kr}$

Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

 $E ext{-}mail\ address: gwjang@gmail.com}$